
Proficiency Test, 2o-22-2023

Time 2 hrs. Class Vl M. M. 100

Note : i) Method of Answering the Ouestion :- 6 5 6 6
ii) Darken the circle with sketch pen.

-English

Read the passage given below and answer the questions that follow : (1 to 6)

The Tai Mahal

The Taj Mahal is one of the most beautiful buildings, in the world. More than

three hundred years ago, emperor Shah Jahan built the Tai Mahal, as a tomb for

his wife. Shah Jahan loved his wife very much. He wanted her tomb, to be

perfect. He did not care about time or money. He found the finest workmen in

Asia. Altogether, over 2O,OOO different men work worked on the building. lt
took over seventeen years to finish it. The building rests on a platform of sand

stone. Four slender white towers, or minerals, rise from the corners of the

terrace. A large dome rises, from the centre of the building. Around this large

dome there are smaller domes.

Who built the Tai Mahal and for whom ? ,1.

2.

3.

Taj Mahal was built -
a) One hundred years ago b) two hundred years ago

c) three hundred years ago d) four hundred years ago

The workmen came from to build it.

a) Asia b)'EuroPe c) lndia d) lran

4. How many years did it take to finish the work ?

a) Mumtaj, Shahjahan

c) Shah Jahan, Mumtaj

a) Fourteen years

c) Sixteen years

b) Workmen, Mumtaj

d) Mumtaj, Tourists

b) Fifteen years

d) Seventeen years

5. What is the main building of the Tai Mahal made of ?

a) White stone b) Sand Stone
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6. The word 'large' means

a) smal! b) full c) huge d) short

* Do as directed :

7. ...... Water is necessary for life.
a) a b) an c) the d) no article

8. I intend to buy . umbrella.

a) a b) an c) the d) no article

a) at ; fcir b) for ; at c) in ; for d) to ; for

10. Our principal is a man principle.

a) of b) off c) for d) at

11. One must try to do one's

. a) good b) better c) most d) best

12. Every cloud has a silver lining.

a) darkest b) dark c) darker d) most dark

13. ...... children were playing in the park. ,

a) Each b) Some c) any d) Every

14. .:...... city do you belong to ?

a) what b) whose c) whom d) which

15. One who lives on vegetables :

a) vegetarian b) edter c) healthy d) food

16. The yearly return,of a dgte

. a) Early b) anniversary c) yearly d) birthday

17. A synonym for 'Pious' is -
a) Neat b) Fast c) Holy d) Rapid

18. A synonym for 'Selected' is -
a) bolted b) appointed c) cheered d) appreciated
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19. Tick the word that is spelled correctly-

a) delicious b) delecious c) delacious d) delesious

20. Tick the word.that is spelled incorrectly-

a) Cattle b) Dairy c) Affect d) Celing

21 . The past participle of 'Swing' is :

a) Swings b) Swang c) Swung d ) Swinging

22. What a delightful experience ! is an -
a) assertive sentence b) exclamatory sentence

c) lnterrogative sentence d) lmperative sentence

23. My uncle gifted .... a watch on my birthday.

a) him b) her c) me d) them

. 24. The noun form of 'Decide' is -
a) Decided b) Decision c) Deciding d) Deside

25. The superlative degree of 'busy' -
a) busy b) busyer c) busie,st d) busier

26. The word that rhymes best with 'cake' -
a) bell b) take c) well d) go

27. Select the odd one out -
a) Loyal b) Faithful c) true d) durable

28. Who, of the two boys, is . ........ ?

a) intelligent ' b) more intelligent
' c) most intelligent d) an intelligent

29. A herd of buffaloes ... ...... seen grazing in the fields.

a) was b) were c) has d) can

30. The Shatabadi Express ..... at 6 : OO p.m. everyday.

a) leave b) is leaving c) leaves d) leaving
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Maths

31. Find the value of 15 '27 + 9'2 + 3'05

1 5 .27 + 9 .2 + .3 .0 5 EF-r ql;t f,rfi sltqq I

bl 27.34 cl 27 .52

d) None of these (fl+ t +ti Tfi)

Which of the following is an obtuse angle ?

F,ffi q + *t qr +}ur siftrs fttq + ?

a) 9oo :' b) 1 130 c) s7o

Which of the following is Roman numeral for 69 ?

Frqkflqe q +\T qI 6s sl iE{ t'qr+^ + ?

a) LXIX b) XL c) LXX

d) None of these (E{fr t st{ ftT)

Which of the following is H'C'F' of 28 and 98

Frqkfisa { t 28 HeIr e8 qtr q6fl qqrqqdq^ {qr + ?

a) 27 .92

weight of fruits Purchased ?

a) I kg 520 gm

32.

33.

34.

d) 750

a) 14 b) 7

d) None of these (5,t{ + st{ {6T) 
,

35. Which of the following is L'C'M' of 3O and 42 ?

FTqfrftga. { + 30 *t +z s.r f,gilT E-qr + ?

36.

c) 2

a) 30 b) 42 c) 21O

d) None of these (E{fr t 6t{ ftT)

RiyapurchasedSkg200gmapplesand3kg50gmmangoes.Whatistotal

c) I kg 25O gm d) None of these

firqri5lsd200uFt*eaqr3ffi50urETeTrqqttl*+qd+r
Eflwr{arfi6-t I

a) . 8 fq-d s2o ulrt

c) s fu-d 2so rFt

b) 8 kg 70O gm

b) smTooqrq
d) r<{ + st{ ftT
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97 . Length of cuboid is 10m. lts breadth and height is 6m and 5m respectively.

Find volume of cuboid.

a) 56 m b) 40 m c) 21m3 d) 3OO m3

g€F q"TraT +1' Hrqr{ t0 +a, # 6 +a dcn gqr{ 5 +e( E+ d qflq
EF',T 3Tr{ltFT frfr st I

a) s6 rha{ b) 40 ufre-r cl 21 +etl d) 300 frgrs

38. Which of the following is multiple of 9 ?

Frqkfud { + +tt m *isr e sr {ur{il + ?

a) 134 b) 225 c) 512 d) 1 03

39. Find the diameter of circle whose radius is 3.5 cm

a) 7 cm b) 1.75 cm c) 15 cm d) None of these

Td ftt flTqr 3.s n.fr. En til s{FFT qRT f+.ffir ATr ?

a) 7 t+. b) 1.75 ffi. c) 15 ++. d)E{d + q't{ =cT

40. Area of square :
a) 4 x side b) side x side c) 4 + side d) None of these

qtf trl *xse .: ,

a) 4 x rfsn b) Tqr x Eqr c) 4 + gq1 d) FrI+ + 6H rS

41 . lf two sides of a triangle are equa! then it is called .... . triangle.

a) scalene triangle b) lsosceles triangle

c) Equilateral triangle d) None of these

qfr ffi fuUq ftt sH A TqrE qtrr=T d d B€EFI ry1 qrq $ ?

a) Fqqrdrg fuUT b) Hqkqrg BtUq

' c) vrerg HTdr d) rq{ + st{ T6T

42. What time will it be 4 hours 15 minutes after 2 : 30 p.m. ?

a) 9:45pm b)8:45pm c)6:45pm d)Noneofthese

2 : 30 em<rqt * 4 Ei+ 15 ftT€ EIrE tFIT Hqq Eirn ? 
.

a) 9:45€irr{rq{ b) 8:45€nq{rqt c) 6:453lq(rqn d) {{{+st{ftT
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43. Perimeter of a square is 30 cm. What will be the side of square ?

a) 7.5 cm b) 10 cm c) 15 cm d) 6 cm

gs' qrf +r qfi:qrq 30 ++ + + q'f st Tqr f,ro m,t I

a) 7.5ffi b) 1o++ c) 15+S d) 6ffi
44. The product of two numbers is 528. lf one of the numbers is 24then find

other number.

qk A +iqrsr} tnT {urqse sz8 + *t q+ riqr 24 + Etrt arc qr} I

'a)34'bl44c)22
d) None of these (5{+ + q+{ ftT)

45. Which of the following is smdllest fraction ?

fiTE{ftka { t+,{T firq tn'T rTFt Fq+ *q * ?

.' 1 1 1 1a) , o)a ")6 o)e

46. Which of the following is factor of 45 ?

FrqkfuG { +t{ rft dqr +s EFT qqfi + ? ,

a) 11 b) 15 c) 12 d) 14

47. Jaya bought 27.5 m of cloth. How many cm of cloth did she buy ?

a) 2750O cm b) 275O cm c) 275 cm dl 2.75 cm

Erqr + 27.s fr?r ffir sftEr r {frIS ss+ ffi +A*at rer sftqr
a) 275se ffi b) 2750 ++ c) 275 t* d) 2.75 ++

. 
48. Express 5.75 as fraction in lowest tirm

b.75 +t Frcroq rrE Emft fqq + 5q { qrc ert I

23 23 123a) i b) +O c) +O d) None of these

sr{ + q+{ T6T
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49. Find the value of 78.55 x 1000

78.55 x 1OOOEFI r{r{ {rf, st I

a) 785.5 b) 7855 c)78550 d) 7855OOO

50. Arrange the following in decending order

fitqkftra fir+ +} effind *q { ffi :

5 5 5 5 55a) ; b) j,g,,' 2' 7' I 7' g', 2

555 5 55c) i.' ,' =, d) ;' ;' ;
51 . Which of the following is a natural number ?

Frakfuc { + +-t{ S riqr sr{tn+. riqr + ?

a) o b) -1 c) 3 d) +.5

52. Cost of 10 pens is Rs. 250. What will be cost of one dozen such pens ?

qR t0 q-+ EFT {H 5'. 2s0 + A QS q+ <sh tq qr {H yqr dTr ?

a) <300 b) <25 c) <400 d) (soo

53. Which of the following can not be angles of triangle ?

Frqlf,fuT { + sY{ HT +t"r q*' hUE + st"r ftT d vs+ ?

a) 650, 35o, 80o b) 10o, 1Oo, 1600

c) 5Oo,600, 600 d) 5Oo, 5Oo, 8Oo

54. Find the smallest five digit number which is exactly divisible by 1 1.

s iri+T +t qqt +A dqr {rfr qtfr Eil t l + X"t* lqrnkd A I

a) 99990 b) 10010 c) 1 1 1 1 1 d) 99999

555
7' 2' I
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55. Find the sum : (+rrwm ERT st)

56. Find the area of rectangte whose length is 5 cm and breadth is 3 cm.

a) 8 cm b) 16 cm c) 1 5 cm2 d) None of these

qfi elrqtr s-r qbrse ETf, st ffi dqr{ s +fr. a*n N I i* *r
a) 8cm b) 16cm c) 1scmz d) E{++EH16T

57. Volume of a cube is 64 m3. what will be length of side of cube ?

a) 64m

W ST EFI

a) 64m

b) 16m c) 4m d) None of these

b) 16m c) 4m

58. 1 kg : .... gm

r ffiqrq r .... utEI

a) 1OO b) 1O0O c) 10 d) 1 0000

What is measure of right angle ?

q+. qrslur EF'r Eilq knT +dr + ?

a) 90o b) 80" c) l OOo d) 2300

60. A wire of length 5O cm is formed into a shape of rectangle. lf length of
rectangle is 15 cm. What will be its width ?

a) 15 cm b) 35 cm c) 1o cm d) None of these

50 +Eft iTR qil dg*.{ gfi enftT Gt"[r?Tr rrqr | fr qr{nT +t qqd t5 ++
taBtutr+&il ?

a) 15ffi b) 3s++ c) 1otrft 6y q{+siiT6T

30a) 
63

1c) ,

53
-t97

40b) 
63

62d) 
63

sn{ltFr 64 *a, + d ssq+ T{r st mqr{ fumfr a+ ?

d)E<t{ + E#{ rET

59.
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61. ftafiq' EFT qof HE y{Tr drn ?

a) Et+{+yt+\+sTT+H+eT
b) Et+E+{t+{+eTr+rr+eT
c) Et + E + yt + \ + eTT + rI + sT

d) Et + { + Tt + { + sIT + rI + sT

62.

63.

E EE'r quf frE+E Eqr drn ?

a) EF' + 3I + { + rt + st b) EF' + sT + \ + eT + { + sT

c) 'EF'+\+3r+H+sT d) E6'+q+\+st+E

{ + qr + H + r + \ + eT + +fT + gTq drn

a) q b) <rEtq c) {r{e{

( + { + e + en quil + +fi + +tq qr qr< q{frr } ?

a) tfr b) tfir c) Aqr d) Aq

65. t-6 + kqr 6srre * tr+-+ qrcfr rfi st Hr ftEd + ?

a) Eiq{ b) Frr

EE{Tdst+fqrffi* ?

Enil d) €r{FqR

d)

64.

b)7c)lt

67. Yl\q,qfuHIFFrt+a4qg ?

a) 4 l3d)

a) it'ilFT aiffi
c) rigrc afsrq

q, H euf t5:H qri { oTrA * ?

b) sET dtr"
d) sef ErlE{-{

b) rdrl c)

SetII

a) il{rf
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69.

70.

e) F€T

a) 'qrqlfu*,

a) IFTqEFTT

:"

77. tsq' vr< zn-t ffiq 6lt4-

sFr {tqr 6s t 7t 6qt "Yr< EF't {J<4 Eq q6qr{

b) sffit c) ssrr€T d)

b) ffiHfi c) qqfrd. d)

b) H,rdffiq c) 6t'1f5,c d)

11.

72.

73.

a) W

78. Fdqrq + mat 'iE t ?

b) qeFT c) 3r{rcr d)

b) 7 c) 4d)

tm'qrmq

q6r + t{r

ft1tr

q{*v{t

r fisa {srn +t [fr gq{r*

*g atrs'{.*fr t
qffi@nA+ I

rt

tiH *r dFi'r 5q dltae-

a) qlsfirfi b) 'itsfrr
c) ffi d) qffia

74.

15.

qa:qt' EI {frr- E gt{q-

";' 
qE + tvr ; {& + {vr c} qFo + t{r d)

ftrqtdfisa { t arffirtr.n', t'flr Tfi + ?

a) firdrq b) q.gr{ c) EFerT d)

q(q + {vfi + tH t 61q qT sq{rfi w< qtrn ?

a) q<tqt b) sfrs{ c) q(*rd{ d)

r qqlrrqr* df4-'e1fi6t' Yr< EF

a) 3{pr b) ql1l c) Er€T d)76.

a) 6

79. Yfrqn di + qK sft Bertr

5.6rqt t EfiHq 
.L

; qr<( 3t6n't fr+ t t

ErrE{ + qr6( ds qsrG t I

b)

d)

S€ttr

c)
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'en+ + qr6r d{r' T6r-{t + fuq Ffr erd EHq-

8r. Etvr + tqt *s lilqr I E€ ErrErq { Hqq +-
a) EtYr b) d€ c) d<t d) fu{sr

frqffiiT { + {qqrqs HquT *r r*rr fr.s k+,il { gen * ?

a) are *e b) Es BH c) dsr .il+ d) T6 grils'

q#+. vrr< H + A FFT srd +t{ + d+ ?

82.

83.

a) qsra t srftrfi qrFn

c) €rdRrfi *}q r+z EFFIT

a) r<r, .iq$
c) HTt, {rErq

a) ger nur *rr
c) ETq ttefi fu{q

b) qqT sIFrT

d) Fr+ + *'t{ ftT

t,I b) +qt, kirr
d) 1a, ccrcr

b) *rr rnn g-qr

d) +qqm aen rigf

84. ttd{TrT fiFqret+, yr<} F*r ft gert' + .er{ fi

85. it'sr eir lrqf fus erMq. w< * A &?T eid * ?

a) Tqf b) EEr c) EFT d) Ets

++ ftqr rqr q{dq qrdt.++, r6st E.d rrg sv+ + Birt t :
wr€ + fu{r +drt { s.r'enr rfi lrrm F+,* r va# err si++^ *'r{

EE frfr{ flrrilr t r fr +{fr sq 6'14 + sfta gqE1.q.{ fu qnr + +
rr& q,fr * q,fi EFT {rdffiTr r qR ErT eqqrs & t+ d sqear Eqm HreT
dg tft | EEH( ril+ + Es+{rq +6rt w fuTq qr+ + fae Hrfr qK e"rFT
furr $r €fiT { sq;e * ,rqr r frm wrfi w' t* t=il +, e q-1sq
+ rtryq rrtwrff * <qn +€ t* + r sr=rs + BEn qrfr qq =n+- *ril,kdr sTens + fuT Hq HT 6aT qrqur q-r d* t I S q1e1 €[iqrq
=mT m'rtn sr+.tne frar srfr{q' HErq rq'rs ffi r ffi qfr Ga +.r
sTEIrs ftT EF.trn ril, m fttfrqFT Tqrfufr rS qr qrgln I $kr: €Nns erENEr
EF'Grr qBq I
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86.

87.

88.

qBa *.r4 +-S {rFT d qrar * ?

a) Esd q< 3nBrf, {tffi-{

c) rnrq * r+m {rcr{

rr5aril HEr sGr & ifr t ?

a) s+ztrcT qri qt

c) STETRT A qt* trr

Frtil{ STETRT EF'Ftt ffi tfr * ?

a) l6qd 6rcTr

c) sTqS€ *{r

s{rqm q fuar EFTr q"T qrfr + ?

b) firmt srEIRT q-r*

d) k{r enqr€ *

b) EFTET sTN # qt

d) EBq qrd qr+t qt

b) {T(nardT slq srt +t

d) fqtrvr aar

89.

a) qfn b) lqq c) qr$ d) Yr6E

90. 5ffi( ,ilt + Yg+{Iq +dq qt kqq qa + fl€q ffi Err{ Ir{rm flsqr?

a) qR Etr( b) gm Em c) fra en d) {TFT ETR

How many Union Territories are there in lndia ?

qrn{taffi*rYrfsnst{r+ ?
91.

92.

a) 6 b) 8 c) 9

What is the caPital of Maharashtra ?

a) Mumbai b) New Delhi

r6nrg * rqqr$ wr * ?

a)t+{ b) T{ffi

dl 7

c) Chennai d) Lucknow

c) H d) E[GH6'

b) Vande Mataram

d) Maa Tuihe Salam

93. National song of lndia is " '

a) Jana-Gana-Mana

c) Saare Jahaaan Se Accha
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$rr{tT ST {r*q ,frfr +

a) q{-rtUT-rT{

c) Hrt =rdf + sr€t

94. The national animal of lndia is ....

b) qt qrcq
d) m E-e wTFT

b) EFI.

d) qqrq

d) Liona) Tiger b) Elephant c) Cow

qr(fr sT {lErq qYJ ........ + |

a) ' ETIEI b) 6r* c) rTrq d) fii6

95. Vaishno Devi temple is situated in ...
. a) Himachal Pradesh b) Jammu

d) Punjabc) Uttarakhand

a) foqt=rf, st{r
c) Enr€ug

96. ln which state/union territory Red Fort located ?

a) Delhi b) Goa c) Kerala d) chandigarh

f+,'{T {rqr+< yrlvd st{r { Hrm fuHr frrfr *'?
a) ffi b) ril-{r c) +G

97. The earth also rotates on its own axis and takes ...... hours to
' complete one rotation.

Tr* 9rr+ qt w qr+ + sfu s.r +Fnr fr HT+ { .... ... q" +fr
+r
a) 20 b)'22 c) 24 d) 40

I

98. is called Red PIanet.

a) Mars b) "Earth c) Venus d) Uranus

+i erq 16 EF-6r qrar t ?

a) rirrm b) Y"* c) 1I*. d) gt{s
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99. ldentify this famous personality -

a) Sh. Atal Bihari VajPaYee

b) Sh. A. P. J. Abdul Kalam

c) Sh. Narender Modi

d) Sh. J. P. Nadda

sts€ qtffi€ Q\ qcqftq-

a) *sreTffiqtq++
b) * q. fr. q' €r€.m EFenET

c) $ qt< dHt

d) * q. +- Tg-sr

1OO. ldentify the famous sports person :

a) Sachin Tendulkar

b) Neerai ChoPra

c) Virat Kohli

d) Abhinav Bindra

sfu€ ffi q+ qcqrt +1eq :

a) {rH{ frry
b) +{q +T.sr

c) krre ffi
d) sfiffiq Gfil
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